100% Guarantee
Vendor:VMware

Exam Code:2v0-631

Exam Name:VMware Certified Professional 6 — Cloud
Management and Automation Beta Exam

Version:Demo



QUESTION 1

The Goal Navigator assists administrators in which two ways? (Choose two.)
A. Lists all the steps to complete the tasks.

B. Lists all the prerequisites to complete the task.

C. Validates that a task has been successfully completed.

D. Provides details on how to complete the forms for a task.

Correct Answer: AB

QUESTION 2

An administrator has been tasked with removing a secondary datacenter from vRealize Automation Center. After
removing the secondary datacenter from the locations file, the administrator notices that it still appears on the Confirm
Machine Request page.

What additional step must the administrator perform to completely remove the secondary datacenter?

A. Remove the Data Name from the WebSite\XmIData\DataCenterLocations.xml file.

B. Edit any compute resources associated with the secondary datacenter and reset the location to zero.

C. Remove the CustomDataType from the WebSite\XmlData\DataCenterLocations.xml file.

D. Edit any compute resources associated with the secondary datacenter and reset the location to blank.

Correct Answer: A

QUESTION 3

Which three actions should an administrator take before creating a vRealize Automation Business Group? (Choose
three.)

A. Identify the Active Directory distribution groups for the users.

B. Determine which users will be assigned the Business Group Manager role.

C. Identify the Active Directory security groups for the users.

D. Determine which Cost Profiles will be used for the users.

E. Identify the Distinguished Name of Containers where the Users and Groups for the Tenant are located.

Correct Answer: BCE




QUESTION 4

What is the minimum role required to modify the properties and components of an application blueprint?
A. Application Publisher and Deployer

B. Application architect

C. Application Catalog Administrator

D. Application Cloud Administrator

Correct Answer: A

QUESTION 5

Which value should be entered for the default tenant when configuring the SSO settings on the vRealize Automation
Appliance?

A. vsphere.local
B. system-domain
C. system.local
D. vsphere-local

Correct Answer: A

QUESTION 6

Health badge score of a vCenter Server to suddenly drop to 0?
What is a possible reason for the

A. The vCenter Server has lost connectivity to a datastore.

B. The vCenter Server Inventory Service has stopped responding.
C. The vSphere Client cannot connect to vCenter Server.

D. The vCenter Server virtual machine CPU utilization is at 100%.

Correct Answer: A

QUESTION 7
A once active entitlement has been changed to inactive, what are the implications of this change?

A. Users in the now inactive entitlement can no longer perform snapshot operations on their machines.



B. Machines previously deployed under the now inactive entitlement are shut down.
C. Users in the now inactive entitlement can no longer perform actions on their machines.
D. Machines previously deployed under the now inactive entittement are powered off.

Correct Answer: C

QUESTION 8

Refer to the Exhibit.
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The system administrator is required to configure a User Search Base DN for users who reside in the Users OU shown
in the exhibit.

Which Base DN meets the stated requirements?
A. OU=Users,0U=VMware,dc=vmware,dc=local
B. OU=Users,OU=VMware,dc=vmware.local

C. CN=Users,0OU=VMware,dc=vmware,dc=local
D. dc=vmware,dc=local,OU=VMware,OU=Users

Correct Answer: A

QUESTION 9

While creating a vRealize Automation reservation, an administrator finds that the cluster resource information is
unavailable.



What is the most probable cause of the issue?

A. The endpoint inventory data collection has not completed for the cluster.

B. The administrator has insufficient permission to view the resource information.
C. The cluster is not part of the current security group specified in the reservation.
D. The endpoint is not connected to the Elastic Load Balancer.

Correct Answer: A

QUESTION 10

An administrator needs to define a Static IP Address Range in vRealize Automation. Which object is a prerequisite to
complete the task?

A. Edge Gateway
B. Cloud Endpoint
C. Network Profile
D. Blueprint

Correct Answer: C

QUESTION 11

A vRealize Automation user requires the ability to view and update all cost information for a vRealize Business Standard
installation.

What is the most restrictive role that provides these permissions?
A. Business Management Controller

B. Business Management Administrator

C. Business Management Read only

D. Business Management Administrator and Tenant Administration

Correct Answer: B

QUESTION 12
A Tenant administrator needs to assign a role to a group to give them the right to create, modify and delete
applications in Application Services.

What is the role that will grant the group the minimum required permissions?



A. Application catalog administrator

B. Application architect

C. Service architect

D. Application publisher and developer

Correct Answer: C
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